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Ssc Cqgl Tier | Previous Year Question Paper
Overview

Here, you can solve all the questions asked in Ssc Cgl Tier | Previous Year Question Paper on 2023-10-27 in the Morning
Shift exam. The detailed solutions are also provided for every previous year question and some of these questions can be
asked again in your Ssc Cgl Tier | exam. There are 75 questions in the exam and 60 minutes are provided for the Ssc Cgl
Tier | exam. The Cutoff of the exam was 140 marks hence you should try to score at least 150 marks.

Ssc Cqgl Tier | Previous Year Question Paper :
Questions and Solutions

Question 1:
The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown below. Choose
a figure which would most closely resemble the unfolded form of the paper.

Difficulty : Moderate Average Time: 48 Seconds

Options :
1. ama-4826080r type unknown

2. bimap-A82608or type unknown
3. Cimep- 462808 or type unknown

4. Wima-462X6080r type unknown

Solution :
The correct answer is option 1 i.e. ahrq-462608

After unfolding, the paper will appear as follows:
arshroi482608ype unknown

Question 2 :
Select the most appropriate option to fill in the blank. The committee will a survey on the government
schemes.

Difficulty : Moderate Average Time: 63 Seconds

Options :
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conduct
2. fight
3. hold
4. originate
Solution :
The correct answer is option 1 i.e. conduct.
The word "conduct" means to carry out or perform a research, or investigation.

In the sentence, the committee is tasked with performing a survey on government schemes, so "conduct" conveys the idea
of organizing and executing the survey.

The other options, such as "fight,"” "hold," and "originate," do not convey the appropriate meaning in this context.
Hence, the correct answer should be "conduct."

Question 3 :
Select the option that expresses the given sentence in indirect speech. She said impatiently, “I don’t need any help.”

Difficulty : Moderate Average Time: 57 Seconds

Options :
1. She said impatiently that | don’t need any help.

2. She said impatiently that she didn’t need any help.

3. She said impatiently she don't need any help.

4. She said impatiently that she doesn’t need any help.
Solution :
The correct answer is option 2 i.e. She said impatiently that she didn’t need any help.
"I"is changed to "she."

The tense of the reported speech is changed. In the given sentence, "don't" is changed to "didn't" to shift from the present
tense to the past tense.

Question 4 :
Select the option that can be used as a one-word substitute for the given group of words. An arched structure in a garden
having climbing plants
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Difficulty : Difficult
Average Time: 61 Seconds

Options :
1. Shelter

2. Pergola
3. Path
4. Shed
Solution :
The correct answer is option 2 i.e. Pergola.
A pergola is a garden structure with an open frame that offers shade and looks nice. It's often covered in climbing plants.

Question 5:
Select the option that expresses the given sentence in active voice. A new invention has been made by him.

Difficulty : Moderate Average Time: 39 Seconds

Options :
1. He was making a new invention.

2. He has made a new invention.
3. He had been making a new invention.
4. He were making a new invention.
Solution :
The correct answer is He has made a new invention. i.e. option 2.

e To change the sentence to active voice, we move "him" to the subject position and "a new invention" to the object
position, resulting in "He has made a new invention."

Question 6:
The information given below represents the number codes for the given letters. Select the combination of numbers so that
the letters arranged accordingly will form a meaningful word. R=1,E=2,A=3,C=4,T=5,1=6,V=7,E=8

Difficulty : Moderate Average Time: 55 Seconds

Options :

Page No: 3
Kd_Live


https://study.kdcampus.live/question-paper/ssc-cgl-tier-i-previous-year-question-paper-2023-10-27-morning-shift-41500
https://study.kdcampus.live/

Kd_Live

4,1,2,3,5,8,7,6

2.4,1,2,3,56,7,8

3.7,2,1,3,8,4,5,6

4. 4,3,1,5,6,7,8,2
Solution :
The correct answer is option 2i.e. 4,1, 2,3,5,6, 7, 8.
We need to find the combination of numbers so that the letters when arranged accordingly will form a meaningful word.
R=1,E=2,A=3,C=4,T=51=6,V=7,E=8
Option 1:4,1,2,3,5,8,7,6
CREATEVI - This is not a meaningful word.
Option 2: 4,1,2,3,5,6,7,8
CREATIVE - This is a meaningful word.
Hence, option 2 is the correct answer.

Question 7 :
In a code language, 'SLAIN' is written as ‘PKCNU’, and 'DENT" is written as 'VPGF'. How will 'CUBOID' be written in that
language?

Difficulty : Moderate Average Time: 54 Seconds

Options :
1. FKQDWE

2. FJQDWE

3. FKQDVF

4. EWDPKE
Solution :
The correct answer is option 1 i.e. FKQDWE.
The logic used here is:

'SLAIN' is written as ‘PKCNU’
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Each letter + 2

Then, reverse the code.
SLAIN = UNCKP
S+2=U

L+2=N

A+2=C

I+2=K

N+2=P

'DENT" is written as 'VPGF'
DENT = FGPV
D+2=F

E+2=G

N+2=P

T+2=V

Similarly;

Code for the word CUBOID:

C+2=E
U+2=W
B+2=D
0+2=Q
I+2=K
D+2=F

CUBOID = FKQDWE
Hence, FKQDWE is the correct answer.

Question 8:
Three of the following four triads are alike in a certain way as they are formed by performing the same mathematical
operations among themselves and thus form a group. Which triad does NOT belong to that group?
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Difficulty : Moderate
Average Time: 71 Seconds

Options :
1. 11:21:121

2. 7:15:49

3.2:3:4

4, 9:17:81
Solution :
The correct answer is option 2 i.e. 7: 15: 49.
The logic used here is:

Option 1: 11: 21: 121

11 %2 =22
22-1=21
112 =121

This follows the logic.

Option 2: 7: 15: 49

7x2=14
14-1=13
7% = 49

This does not follow the logic.
Hence, option 2 is the odd one out.

Question 9:
Select the correct combination of mathematical signs to sequentially replace the * signs and balance the given equation.
11*7*345*5*31 =115

Difficulty : Moder ate Average Time: 50 Seconds

Options :
1. + %, =+,
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Solution :
The correct answer is option 2 i.e. X, +, =, .

Given equation: 11 *7*345*5* 31 =115

Option 1: +, x, +,

After interchanging the expression becomes:

=11+7x345+5 31=115

=11+7x69 31

=11+483 31

=463 is not equal to 115.

As we have found our answer, there is no need to check further options.
Option 2: x, +, +,

After interchanging the expression becomes:

=11x7+345+5 31=115

=11x7+69 31

=77+69 31

=115is equal to 115.

As we have found our answer, there is no need to check further options.
Hence, option 2 is the correct answer.

Question 10 :

Seven persons are sitting around a circular dining table facing the center. S is sitting to the immediate left of Y and third, to
the right of R. R is sitting to the immediate left of A and immediate right of P. A is sitting to the immediate left of D. Q

is sitting to the immediate left of P. If D exchanges seat with Y and P with Q, then who is sitting to the immediate right of
D?

Difficulty : Moderate Average Time: 86 Seconds
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Options :
1. P

2. S
3.0
4. R
Solution :
The correct answer is option 1i.e. P.

According to the question, the arrangement is as follows:
hrepd GRRT6A or type unknown

From the above arrangement, P is sitting to the immediate right of D.

Question 11 :

In this question, two statements | and Il have been given. These statements may be independent causes or effects of
independent causes or a common cause. One of the statements may be the effect of the other statement. Read both
statements and select the correct answer. |. Over the last two years 22% of Company P’s manpower was laid off. II. Over
the past two years Company P has sold off many of their major assets.

Difficulty : Moderate Average Time: 61 Seconds

Options :
1. Both | and Il are effects of a common cause.

2. listhe cause and Il is its possible effect.
3. Il is the cause and I is its possible effect.
4. Both I and Il are independent causes.

Solution :
The correct answer is option 1 i.e. Both | and Il are effects of a common cause.

I. Over the last two years 22% of Company P’s manpower was laid off.
II. Over the past two years Company P has sold off many of their major assets.

From both statements, it is clear that the company might have faced a loss, so, it would have decided to lay off some
employees and sell off major assets to prevent the company from being shut down. We can say that both are the effects of
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a common cause.

Question 12 :
Which of the following letter clusters should replace # and % so that the pattern and relationship followed between the
letter-cluster pair on the left side of:: is the same as that on the right side of::? # : KNE :: PQV : %

Difficulty : Moderate Average Time: 73 Seconds

Options :
1. #=NKF, % =MTU

2. #=NOB, % = SRY
3. #=MOB, % =RTT
4. #=HQD, % =MTV
Solution :
The correct answer is option 1i.e. # = NKF, % = MTU.
The logic used here is:
# . KNE :: PQV: %

Option 1: # = NKF, % = MTU

NKF: KNE
N-3=K
K+3=N
F-1=E
PQV: MTU
P-3=M
Q+3=T
V-1=U

Hence, option 1 is the correct answer.

Question 13:
Given below is a question followed by two statements | and Il. Read both statements fully to decide which one of them is
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sufficient to answer the question. Six people - K, M, N, P, Q, and R are sitting around a circular table facing the centre.
Who sits second to the left of P? (I) K sits to the immediate right of P. Only two people sit between P and Q. R sits second
to the right of M. (II) Only two people sit between N and M. Q is an immediate neighbour of M. Only one person sits
between Q and K.

Difficulty : Moderate Average Time: 75 Seconds
Options :
1. Data in statement Il alone is sufficient to answer the question while data in statement
| is not.

2. Data in statement | alone is sufficient to answer the question while data in statement 1l is not.
3. Data in statements | and Il together are NOT sufficient to answer the question.
4. Data in statements | and Il together are sufficient to answer the question.

Solution :

The correct answer is option 2 i.e. Data in statement | alone is sufficient to answer the question while data in
statement Il is not.

Given statement: Six people - K, M, N, P, Q, and R are sitting around a circular table facing the centre.
(I) K sits to the immediate right of P. Only two people sit between P and Q. R sits second to the right of M.
According to the question, the arrangement is as follows:

hap-48 ZRBG@or type unknown

From the above arrangement, R sits second to the left of P.

(1) Only two people sit between N and M. Q is an immediate neighbour of M. Only one person sits between Q and K.
According to the question, the arrangement is as follows:

mmm@or type unknown

From the above arrangement, we cannot find who is second to the left of P.

Hence, Data in statement | alone is sufficient to answer the question while data in statement Il is not.

Question 14 :

Three statements are given, followed by three conclusions numbered I, I, and 1ll. Assuming the statements to be true,
even if they seem to be at variance with commonly-known facts, decide which of the conclusions logically follow(s) from
the statements. Statement: Some Bangles are Bracelets. All chains are Rings. Some Bracelets are Chains.
Conclusions: (I) Some Bangles are Rings. (II) Some Chains are Bangles. (lll) Some Rings are Bracelets.
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Difficulty : Moderate
Average Time: 122 Seconds

Options :
1. Only Conclusion lll follows.

2. Both Conclusions | and Il follow.
3. Both Conclusions | and Il follow.
4. Only Conclusion | follows.
Solution :
The correct answer is option 1 i.e. Only Conclusion Il follows.

The least possible Venn Diagram for the given statements is drawn below:
hrep4 622864 or type unknown

Conclusions:
I. Some Bangles are Rings False (It is possible, but no definite conclusion can be drawn.)
Il. Some Chains are Bangles False (It is possible, but no definite conclusion can be drawn.)

Ill. Some Rings are Bracelets True (As some bracelets are chains and all chains are rings, so, some rings are bracelets is
also true.)

Hence, Only conclusion Il follows.

Question 15
Amit ranked 7th from the top and 26th from the bottom in his class. How many students are there in the class?

Difficulty : Moderate Average Time: 72 Seconds

Options :
1. 31

2. 33
3. 27
4. 32

Solution :
The correct answer is option 4 i.e. 32.
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Number of students in the class = Position of person from top + Position of person from bottom-1=26+7-1 =32

Question 16 :
Select the number from among the given options that can replace the question mark (?) in the following series. 242, 288,
?,392, 450

Difficulty : Moderate Average Time: 37 Seconds

Options :
1. 338

2. 375

3. 316

4. 324
Solution :
The correct answer is option 1 i.e. 338.
Given series: 242, 288, ?, 392, 450

The series follows this pattern:

242 + 46 = 288
288 + 50 = 338
338 + 54 =392
392 + 58 = 450

So, the missing term in the series is 338.

Question 17 :
Select the option that represents the letters that, when placed from left to right in the following blanks, will complete the
letter-series. SCR_WS R_W_ _C_GWS_RH_

Difficulty : Moderate Average Time: 45 Seconds

Options :
1. ECFSRCW

2. HDFSRCW

3. GDFSRCW
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EDFSRDW
Solution :
The correct answer is option 1ie. ECFSRCW.
The sequenceis—ECFSRCW
Givensequence:SCR_WS R _W_C_GWS_ RH_
Optionl: ECFSRCW
SCREW/SCRFW/SCRGW/SCRHW
Option 1 forms a particular pattern.
As we have found our answer, there is no need to check further options.
Hence, option 1 is the correct answer.

Question 18:
If + means , means x, x means +, and + means +, what will be the value of the following expression? 3+6 +3 -4 x 4 =?

Difficulty : Moderate Average Time: 74 Seconds

Options :
1.8

2.5

3.6

4. 4
Solution :
The correct answer is option 3 i.e. 6.
Given equation: 3+6+3-4x4="
Given conditions:
+ means
means x

X means ~
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+ means +

After interchanging the expression becomes:
=3+6-3%x4+4

=3+6-3x1

=3+6-3

Hence, option 3 is the correct answer.

Question 19

In this question, a statement is followed by two courses of action, numbered | and Il. You must assume everything in the
statement to be true and on the basis of the information given in the statement, decide which course of action/s logically
follows for pursuing. Statement: Some serious mistakes were found in the technical section of the company. Course of
Action: . An efficient technical team should be appointed to check the technical errors. Il. A reason explanation notice
should be issued to all the employees involved in the irregularities.

Difficulty : Moder ate Average Time: 72 Seconds

Options :
1. Neither | nor Il follows

2. Only I follows
3. Only Il follows
4. Both I and Il follow
Solution :
The correct answer is option 4 i.e. Both | and Il follow.
Statement: Some serious mistakes were found in the technical section of the company.
Course of Action:
I. An efficient technical team should be appointed to check the technical errors.

As the statement says some serious mistakes were found in the technical section, so to check that one team should be
appointed, so that no errors will be faced later. Hence, this is a possible course of action

II. A reason explanation notice should be issued to all the employees involved in the
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irregularities.

As there is a technical glitch, so, there will be some irregularities, to prevent this proper notice should be issued. Hence,
this is also a possible course of action.

Question 20 :
In a certain code language, ‘POLISH’ is written as ‘89’, and ‘CLIP’ is written as ‘72’. How will ‘CONTROL’ be written in that
language?

Difficulty : Moderate Average Time: 76 Seconds

Options :
1. 89

2. 92

3. 106

4. 99
Solution :
The correct answer is option 4 i.e. 99.
The logic used here is:
Sum of positional values of Opposite letters + number of letters
‘POLISH’ is written as ‘89’
PKOLLOIRSHHS
(11+12+15+18+8+19)+6
83+6=289
‘CLIP’ is written as 72’
CX,LOIRPK
(24+15+18+11) + 4
68+4=72
Similarly;

Code for the word CONTROL:
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C X,0L,NM,TGRIOLLO
(24+12+13+7+9+12+15)+7
92 +7 =99

Hence, 99 is the correct answer.

Question 21 :

Three of the following words are alike in some manner and hence form a group. Which word does NOT belong to that
group? (The words must be considered meaningful English words and must not be grouped based on the number of
letters/number of consonants/vowels in the word.)

Difficulty : Moderate Average Time: 74 Seconds

Options :
1. Engineer

2. Doctor

3. Carpenter

4. Teacher
Solution :
The correct answer is Option 3 i.e. Carpenter.
The logic used here is:

Carpenter is the odd one because teacher, doctor, and engineer required higher education and provide professional
services.

Hence, carpenter is the correct answer.

Question 22 :

Select the set in which the numbers are related in the same way as the numbers of the following sets. (NOTE: Operations
should be performed on the whole numbers, without breaking down the numbers into their constituent digits. E.g. 13 —
Operations on 13 such as adding /deleting /multiplying etc. to 13 can be performed. Breaking down 13 into 1 and 3 and
then performing mathematical operations on 1 and 3 is NOT allowed.) (18, 39, 60) (27, 48, 69)

Difficulty : Moderate Average Time: 58 Seconds
Options :
1. (24, 64, 96)
Page No: 16
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(35, 56, 77)

3. (31, 52, 84)

4. (17, 28, 49)
Solution :
The correct answer is option 2 i.e. (35, 56, 77).
The logic used here is:
(18, 39, 60)
18+60=78
78 +2=39
(27, 48, 69)
27 + 69 =96
96 +2=48
Similarly;
(35, 56, 77)
35+56=112
112 +2 =56
Hence, option 2 is the correct answer.

Question 23:
‘A # B’ means ‘A is the brother of B'. ‘A @ B’ means ‘A is the daughter of B'. ‘A & B’ means ‘A is the husband of B’. ‘A %
B’ means ‘Aisthe wifeof B'. IfZ% X#C @ V &B @ N, then how is Z related to B?

Difficulty : Moderate Average Time: 57 Seconds

Options :
1. Son’s wife

2. Daughter
3. Husband’s mother

4. Mother
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Solution :
The correct answer is option 1 i.e. Son’s wife.

In the diagram shown;

Square shows males, the circle shows females, vertical lines show generations, a single horizontal line shows brothers or
sisters, and double lines show a couple.

hrepdGRRY8d or type unknown

From the above tree, Z is the son’s wife of B.
Hence, option 1 is the correct answer.

Question 24 :
‘A # B’ means ‘A is the brother of B'. ‘A @ B’ means ‘A is the daughter of B’. ‘A & B’ means ‘A is the husband of B’. ‘A %
B’ means ‘Aisthe wifeof B. I D@N@H&Y @ F % V, then how is N related to P?

Difficulty : Moderate Average Time: 71 Seconds

Options :
1. Mother’s mother

2. Sister’'s daughter

3. Mother

4. Daughter’s daughter
Solution :
The correct answer is option 3 i.e. Mother.
In the diagram shown;

Square shows males, the circle shows females, vertical lines show generations, a single horizontal line shows brothers or
sisters, and double lines show a couple.

sivashartkeyllogism86-08-2024d3720240930190342
From the above tree, N is the mother of P.
Hence, option 3 is the correct answer.

Question 25 :
In the given question, the statement is followed by two conclusions. Which of the two conclusions is/are true? Statement:
Z=E R>GY>Q=FConclusions: . RFIL.R Z
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Difficulty : Moderate
Average Time: 62 Seconds

Options :
1. Both conclusions | and Il are true

2. Only conclusion Il is true
3. Only conclusion | is true
4. Neither conclusion I nor Il is true
Solution :
The correct answer is Option 4 i.e. Neither conclusion I nor Il is true.
Statement: Z=E R>GY>Q=F
Conclusions:
I.RF:False (R>GY >Q=F Opposite signs are present, so, there is no relation between R and F.)
II.L.R Z:False (R E=Z impliesR ZandnotR Z.)
Hence, the correct answer is Neither conclusion | nor Il is true.

Question 26 :

A question is given, followed by two statements numbered (I) and (I). You have to decide whether the data provided in the
statements is sufficient to answer the question. Read both the statements and select the appropriate answer. Question:
Four people, A, B, C, and D, are sitting in a straight line, facing south. Who is sitting at the right end? Statements: (I) Only
two people sit between B and D. A sits to the immediate left of B. (II) Only one person sits between B and C. A sits to the
immediate right of C.

Difficulty : Moderate Average Time: 89 Seconds
Options :
1. Data in statement | alone is sufficient to answer the question while data in statement
II'is not

2. Data in statement Il alone is sufficient to answer the question while data in statement
I is not

3. Data in either statement | alone or statement Il alone is sufficient to answer the question.

4. Data in statements | and Il together is sufficient to answer the question

Solution :
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The correct answer is Option 1 i.e. Data in statement | alone is sufficient to answer the question while data in
statement Il is not.

Question: Four people, A, B, C, and D, are sitting in a straight line, facing south. Who is sitting at the right end?
Statements:

(I) Only two people sit between B and D. A sits to the immediate left of B.

From statement | we got the answer.

(1) Only one person sits between B and C. A sits to the immediate right of C.

From statement Il, the answer cannot be derived.

Hence, the correct answer is Data in statement | alone is sufficient to answer the question while data in statement Il
is not.

Question 27 :
Select the correct homonym from the given options to fill in the blank. The athlete’s was badly injured due to a
fall on the track.

Difficulty : Moderate Average Time: 89 Seconds

Options :
1. toad

2. toe
3. tow
4. to
Solution :
The correct answer is option 2 i.e. toe.

e Toad: A toad is an amphibian similar to a frog.
e Toe: Atoe is one of the five parts at the end of the foot. In the sentence, it refers to the athlete's toe being injured,
which is the correct choice.

e Tow: To tow means to pull something behind with a rope or chain.
e To: "To" is a preposition and can have various meanings, such as expressing motion in a specific direction or

forming infinitive verbs.

Therefore, toe is the correct answer.
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Question 28 :

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a
meaningful and coherent paragraph. A) The Sustainable Development Goals (SDGs) were adopted by all United

Nations Member States in 2015 to end poverty, reduce inequality and build more peaceful, prosperous societies by 2030.
B) The SDGs cannot be achieved without the realisation of child rights. C) Also known as the Global Goals, the SDGs are
a call to action to create a world where no one is left behind. D) As world leaders work to deliver on the 2030 promise,
children around the globe are standing up to secure their right to good health, quality education, a clean planet and more.

Difficulty : Moderate Average Time: 91 Seconds

Options :
1. ABDC

2. ADCB
3. ACBD
4. ADBC
Solution :
The correct answer is option 3i.e. ACBD
Sentence A introduces the topic, mentioning the adoption of the SDGs and their purpose by 2030.

Sentence C provides additional information about the SDGs, referring to them as the Global Goals and emphasizing their
aim to create an inclusive world.

Sentence B builds on this by highlighting the critical role of child rights in achieving the SDGs.

Sentence D connects all the previous statements by explaining how children worldwide are actively working to secure their
rights in the context of the SDGs.

Hence, the correct order is ACBD.

Question 29 :
Select the option that expresses the given sentence in direct speech. Harry said that he would not be in town on Friday.

Difficulty : Moderate Average Time: 61 Seconds

Options :
1. Harry saying, “l will not be in town on Friday”.

2. Harry said, “I will not be in town on Friday”.
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Harry said, “l can’t be in town on Friday”.
4. Harry said, “I must not be in town on Friday”.
Solution :
The correct answer is option 2 i.e. Harry said, “I will not be in town on Friday”.

The reported statement is "he would not be in town on Friday." To change this into direct speech, we use quotation marks
to enclose the reported statement.

The tense is adjusted to "will" to represent the exact words that Harry would use if speaking directly.
Hence, the correct answer would be option 2.

Question 30 :
Select the option that expresses the given sentence in active voice. The story of his uncle’s mysterious disappearance
was first heard by Rajat in his childhood.

Difficulty : Moder ate Average Time: 68 Seconds
Options :
1. The story uncle heard first time was about Rajat’'s mysterious disappearance in his
childhood.

2. Rajat first heard the story of his uncle’s mysterious disappearance in his childhood.

3. The story Rajat first heard in his childhood was about his uncle’s mysterious
disappearance.

4. Rajat’s first story that uncle heard in his childhood was about his mysterious
disappearance.

Solution :
The correct answer is option 2 i.e. Rajat first heard the story of his uncle’s mysterious disappearance in his
childhood.

e The subject is "The story," and the object is "Rajat.”
e To change this to active voice, we move "Rajat" to the beginning.
e In active voice, Rajat is the subject performing the action of hearing the story.

Question 31 :
Select the most appropriate ANTONYM of the underlined word. The audience sneered at the monologue uttered by the
veteran actor.
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Difficulty : Moderate
Average Time: 67 Seconds

Options :
1. Waved

2. Lauded
3. Unleashed
4. Ascribed
Solution :
The correct answer is option 2 i.e. Lauded

Sneered implies a negative or mocking response, while lauded means to praise or applaud, which is the opposite of
sneering.

Waved: To "wave" means to move one's hand back and forth to say hello, goodbye, or get someone's attention.
Lauded: "Lauded" means to praise or applaud someone or something publicly.

Unleashed: To "unleash" means to release or set free.

Ascribed: "Ascribed" means to attribute something to a particular cause or source.

Hence, Lauded is the right choice.

Question 32 :
Select the most appropriate option to fill in the blank. Nowadays, online shopping is easier shopping in a
market.

Difficulty : Moderate Average Time: 65 Seconds

Options :
1. like

2. than
3. then
4. as

Solution :
The correct answer is option 2 i.e. than
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Like is a preposition that is used to show similarity or to compare. However, in this context, "like" is not the correct choice
because it doesn't form a clear comparison.

Then is an adverb used to indicate time or order of events.

Than is a conjunction used to introduce a comparison between two elements. In this context, "than" is the correct choice
as it clearly indicates that online shopping is being compared to shopping in a market.

As is a conjunction that can be used to compare actions, but in this sentence, "than" is more appropriate for making the
comparison between the two types of shopping.

Question 33 :

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a
meaningful and coherent paragraph. P. The prices of cooking gas, pulses and vegetables have registered a sharp rise.
Q. In recent years the prices of essential commaodities have gone up sharply. R. The low-income groups and the salaried
classes are the worst sufferers. S. Living has become quite a costly affair these days.

Difficulty : Moderate Average Time: 83 Seconds

Options :
1. RPSQ

2. QSRP
3. SRQP
4. PQRS
Solution :
The correct answer is option 3 i.e. SRQP
The first sentence is always independent and introduces the topic.
The second sentence provides more information, followed by the third, and then the fourth sentence.

The paragraph talks about how the prices of everyday items have gone up, making life more expensive. It's hitting low-
income people the hardest.

Hence, the correct sequence would be SRQP.

Question 34 :
Select the most appropriate meaning of the highlighted idiom. The employee took the manager’s remark with a pinch of
salt.

Difficulty : Difficult Average Time: 52 Seconds
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Options :
1. Going for the truth

2. Distasteful and boring
3. Doubt the truth or value of something
4. Ever ready to condemn someone
Solution :
The correct answer is option 3 i.e. Doubt the truth or value of something

The highlighted idiom "took with a pinch of salt" means to be skeptical or not completely believe something. In this
context, the employee didn't fully trust or believe the manager's remark.

Question 35 :
Identify the INCORRECTLY spelt word in the given sentence. If she had begun earlier, she might have suceeded in
finishing the extremely intricate project before the deadline.

Difficulty : Moderate Average Time: 51 Seconds

Options :
1. deadline

2. intricate

3. suceeded

4. earlier
Solution :
The correct answer is option 3 i.e. suceeded.
The correct spelling is "succeeded."”

Question 36 :
The following sentence has been split into four segments. Identify the segment that contains a grammatical error.
Everybody stared / when me / entered the / drawing room.

Difficulty : Moderate Average Time: 38 Seconds

Options :
1. when me
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Everybody stared
3. drawing room
4. entered the
Solution :
The correct answer is option 1 i.e. when me

e The correct pronoun should be "I" instead of "me" because the subject of the verb entered needs to be in the
nominative case (subject form).

e The correct segment would be "when I."

e S0, the corrected sentence is: "Everybody stared when | entered the drawing room."

Question 37 :

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a
meaningful and coherent paragraph. A. | was almost drowned a dozen times; was nearly boiled alive and just missed
being cremated. B. Now, my well-being is simply the result of a careful and measured mode of living and perhaps the most
astonishing thing is that three times in my youth | was rendered by iliness a hopeless physical wreck and given up by
physicians. C. More than this, through ignorance, and light-heartedness, | got into all sorts of difficulties, dangers and
scrapes from which | extricated myself as by enchantment. D. But as | recall these incidents to my mind | feel convinced
that my preservation was not altogether accidental.

Difficulty : Difficult Average Time: 84 Seconds

Options :
1. CADB

2. BADC
3. BCAD
4. DCAB
Solution :
The correct answer is option 3 i.e. BCAD.
B starts by explaining how the speaker had a tough time in their youth, with serious illnesses that nearly killed them.

C follows up by saying that, despite these health issues, they still managed to get into all kinds of dangerous situations.
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A gives specific examples of those close calls, like almost drowning or being boiled alive.
D wraps it up by saying that looking back, it feels like their survival wasn't just luck.

Question 38:

Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to
substitute it, select ‘No substitution required’. Bloomberg Businessweek is not more popular than some other business
magazines in the US.

Difficulty : Difficult Average Time: 64 Seconds

Options :
1. No substitution required

2. the most popular than
3. as more popular than
4. so popular than
Solution :
The correct answer is option 1 i.e. No substitution required

e The sentence suggests that there are other business magazines in the US that have an equal or higher level of
popularity among readers.
e The other options do not fit the context, and are not grammatically correct.

Question 39:
Select the option that can be used as a one-word substitute for the given group of words. The one who loves mankind

Difficulty : Difficult Average Time: 49 Seconds

Options :
1. Pessimist

2. Misogynist
3. Optimist
4. Philanthropist
Solution :
The correct answer is option 4 i.e. Philanthropist.

Pessimist: A pessimist is someone who usually sees the negative side of things and expects bad outcomes in different
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situations.

Misogynist: A misogynist is someone who strongly dislikes or has a prejudice against women.
Optimist: An optimist is someone who looks on the bright side of life and expects good results.
Philanthropist: A philanthropist is someone who cares about the well-being of people and helps others.
Hence, the correct answer would be Philanthropist.

Question 40 :
Select the most appropriate meaning of the underlined word in a sentence. Even though James won the election, he has
not brought any of his campaign promises to fruition.

Difficulty : Difficult Average Time: 61 Seconds

Options :
1. concealment

2. nourishment
3. disappointment
4. accomplishment
Solution :
The correct answer is accomplishment i.e. option 4.
Fruition refers to the point at which a plan, project, or goal is achieved and comes to full completion.
Concealment refers to the act of hiding something.

Nourishment refers to the process of providing food, or the essential elements necessary for the growth, health, and well-
being of living organisms.

Disappointment is the feeling of sadness and frustration.
Accomplishment signifies the successful achievement or completion of a task, goal, or objective.

Hence, the correct answer would be Accomplishment.

Question 41 :

Select the most appropriate option to fill in the blank. The security guard needs a of shoes.
Difficulty : Moderate Average Time: 59 Seconds
Options :
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pare
2. pear
3. payor
4. pair
Solution :
The correct answer is pair i.e. option 4.
"Pair" is a noun that refers to two items or things that are matched or go together.

The other options, "pare,” "pear," and "payor," do not fit the context of the sentence.

"Pare" is a verb that means to trim or reduce the outer part or excess material from something.
"Pear" is a noun and refers to a type of fruit.

"Payor" is a term used in finance to describe the person who makes a payment.

"Pair" is a noun that refers to two items or things that are matched or go together, often in a complementary way. In the
context of the sentence, it indicates that the security guard needs two shoes, which is the correct word choice.

Question 42 :
Select the most appropriate ANTONYM of the underlined word. Aunt May thought that Uncle Ken's job as a manager at
Firpo’s hotel in Shimla was a stable one.

Difficulty : Difficult Average Time: 80 Seconds

Options :
1. Lucrative

2. Permanent
3. Durable
4. Mutable
Solution :
The correct answer is Mutable i.e. option 4.
"Stable" refers to something that is steady and not likely to change.
Therefore, "mutable," which means something is subject to change or is not stable, is the antonym that best fits here.

"Lucrative" means profitable, "permanent" means lasting indefinitely, and "durable" means able to withstand wear and
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tear, none of which directly oppose the idea of stability.

Question 43 ;

Sentences of a paragraph are given in jumbled order. Arrange the sentences in the correct order to form a meaningful and
coherent paragraph. A. Instead, they are constrictors, meaning they squeeze their prey to death before swallowing it
whole. B. Agile on water but awkward on land, the green anaconda is one of the largest snakes in the world. C. Most
people assume that anacondas are very poisonous, but they are actually nonvenomous. D. At 29 feet long and 550
pounds, these snakes are huge!

Difficulty : Moderate Average Time: 70 Seconds

Options :
1. BACD

2. BDCA
3. BCAD
4. DABC
Solution :
The correct answer is BDCA i.e. option 2.
The first sentence is independent and introduces the topic.

The second sentence provides more information about the topic being discussed, followed by the third sentence, and then
the final sentence.

The sentence B gives a description of the green anaconda, the next sentence D continues to provide information about the
snake, followed by C and then A.

Hence, the correct order would be BDCA.

Question 44 :
The following sentence has been split into four segments. Identify the segment that contains a grammatical error. Daniel
sat on / his new bike / and went afar / a ride.

Difficulty : Moderate Average Time: 56 Seconds

Options :
1. aride

2. his new bike
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and went afar
4. Daniel sat on
Solution :
The correct answer is option 3 i.e. and went afar
The correct phrase should be "and went for a ride." The word "afar" means "at a distance" and is not appropriate here.
The correct sentence should be: "Daniel sat on his new bike and went for a ride."

Question 45 ;
Select the most appropriate option to fill in the blank. When the victim narrated his version of the incident, the jury was

Difficulty : Moderate Average Time: 51 Seconds

Options :
1. honestly satisfied

2. perfectly satisfied
3. completely satisfied
4. excruciatingly satisfied
Solution :
The correct answer is option 3 i.e. completely satisfied

e The sentence would be: "When the victim narrated his version of the incident, the jury was completely
satisfied."

e The other options, "honestly satisfied," "perfectly satisfied," and "excruciatingly satisfied," do not convey the
appropriate sense of satisfaction in this context.

Question 46 :
Select the option that expresses the given sentence in direct speech. The mother said that the kids were playing.

Difficulty : Moderate Average Time: 52 Seconds

Options :
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The mother said, “The kids have been playing”.
2. The mother has said, “The kids were playing”.
3. The mother told, “The kids had been playing”.
4. The mother said, “The kids are playing”.
Solution :
The correct answer is The mother said, “The kids are playing” i.e. option 4.

Take the reported statement in indirect speech and convert it back to its original direct form, enclosing it in quotation
marks.

Introduce the direct statement using a reporting verb such as "said" or "asked."
If the reporting verb is in the past tense in the indirect speech, maintain it in the past tense in the direct speech as well.

Question 47 :

Sentences of a paragraph are given below. While the first and the last sentences (S1 and S6) are in the correct order, the
sentences in between are jumbled up. Arrange the sentences in the correct order to form a meaningful and coherent
paragraph. S1.In Dr. Babasaheb Ambedkar A. but also an elder statesman and national leader B. we have not only a
crusader against the caste system, C. a valiant fighter for the cause of the downtrodden in India D. whose contribution in
the form of the Constitution of India S6. will be cherished forever by posterity.

Difficulty : Moderate Average Time: 85 Seconds

Options :
1. DABC

2. CABD
3. BACD
4. ABCD
Solution :
The correct answer is BACD i.e. option 3.

The sequence introduces Dr. Babasaheb Ambedkar as a versatile figure, highlighting his roles and contributions
effectively, and emphasizes the lasting impact of his work.

Question 48 :
Select the most appropriate meaning of the given idiom. Water under the bridge

Page No: 32
Kd_Live


https://study.kdcampus.live/question-paper/ssc-cgl-tier-i-previous-year-question-paper-2023-10-27-morning-shift-41500
https://study.kdcampus.live/

Kd_Live

Difficulty : Moderate
Average Time: 39 Seconds

Options :
1. Past events that are not important anymore

2. Difficult situations in one’s life
3. Promises that are made to someone and never fulfilled
4. A seasoned crop with a heavy demand
Solution :
The correct answer is Past events that are not important anymore i.e. option 1.

The idiom "water under the bridge" means that something is in the past and can't be changed, so it's not worth worrying
about or discussing any longer.

Question 49 ;
Select the option that expresses the given sentence in passive voice. The courier boy did not deliver the parcel.

Difficulty : Moderate Average Time: 51 Seconds

Options :
1. The parcel did not deliver by the courier boy.

2. The parcel had not been delivered by the courier boy.
3. The parcel had not delivered by the courier boy.
4. The parcel was not delivered by the courier boy.
Solution :
The correct answer is The parcel was not delivered by the courier boy. i.e. option 4.

e Move the object to the subject position in the passive voice sentence.

Use the appropriate form of the verb depending on the tense of the original sentence.
Add the past participle form of the main verb.

Include the original subject (doer of the action) in a "by" phrase after the main verb.

Question 50 :

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a
meaningful and coherent paragraph. A. No country has yet achieved the combination of very high human development
with a light ecological footprint and the impacts of climate change and biodiversity loss are growing. B. Compounded by a
climate emergency, political polarization and challenged multilateralism, continued conflicts, and forced displacement, the
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number of people living in poverty rose in 2020 for the first time since 1998 by an estimated 119-124 million and
inequalities are growing, and the traditional social contract is no longer working for many. C. The challenge of reaching
Agenda 2030 was already significant, even before the COVID-19 pandemic hit. D. Today’s development challenges are
dynamic, interconnected puzzles of multidimensional risk that require systemic solutions and multilateral cooperation

is vital in addressing these shared challenges that cross boundaries of geography and time.

Difficulty : Moderate Average Time: 97 Seconds

Options :
1. DBAC

2. ABDC
3. BCDA
4. CBDA
Solution :
The correct answer is CBDA i.e. option 4.
The first sentence introduces the topic, and is always independent.

The second sentence provides more information about the topic, followed by the third sentence, and then the final
sentence.

With the sequence CBDA, the paragraph flows logically from an introduction to the challenges of Agenda 2030,
elaboration on those challenges, the need for global cooperation, and a concluding summary of the ongoing issues.

Question 51 :
Identify the INCORRECTLY spelt word in the given sentence. The board reviewing the courses offered by the afiliated
college found that the quality of academic programs was usually good but somewhat irregular.

Difficulty : Moderate Average Time: 55 Seconds

Options :
1. irregular

2. academic
3. review

4. afiliated

Solution :

Page No: 34
Kd_Live


https://study.kdcampus.live/question-paper/ssc-cgl-tier-i-previous-year-question-paper-2023-10-27-morning-shift-41500
https://study.kdcampus.live/

Kd_Live

The correct answer is afiliated i.e. option 4.
The correct spelling is "affiliated."

Comprehension :

In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate
option to fill in each blank. The Sun is the star at the center of (1) Solar System. It is a nearly perfect ball

of hot plasma. The Sun has inspired us since ancient times. It's central to mythology and religion in (2)

around the world. It keeps our planet warm enough for living things to grow. It gives us light so we can see. It is by far the
most important (3) of energy for life on Earth. It is about a hundred times as wide (4) the Earth. If
there were no sun, many things wouldn’t occur like photosynthesis or the presence of oxygen, which would have caused
no existence of life.

Question 52 :
Select the most appropriate option to fill in blank number 1.

Difficulty : Moderate Average Time: 70 Seconds

Options :
1. huge

2. typical
3. a

4. the

Solution :
The correct answer is the i.e. option 4.

e "The" is the most appropriate option here because it specifies "the" Sun, making it clear that we are talking about
our specific star at the center of the solar system.
e The other options do not fit the context.

Comprehension :

In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate
option to fill in each blank. The Sun is the star at the center of (1) Solar System. It is a nearly perfect ball

of hot plasma. The Sun has inspired us since ancient times. It's central to mythology and religion in (2)

around the world. It keeps our planet warm enough for living things to grow. It gives us light so we can see. It is by far the
most important (3) of energy for life on Earth. It is about a hundred times as wide (4) the Earth. If
there were no sun, many things wouldn’t occur like photosynthesis or the presence of oxygen, which would have caused
no existence of life.

Question 53 :
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Select the most appropriate option to fill in blank number 2.

Difficulty : Moderate Average Time: 81 Seconds

Options :
1. scenes

2. processes
3. cultures

4. types

Solution :
The correct answer is cultures i.e. option 3.

e The word "cultures" is the most appropriate option for filling in blank number 2 because it accurately describes the
diverse beliefs and practices related to the Sun.

e The other options, "scenes," "processes,” and "types,” do not adequately convey the intended meaning in this
context.

Comprehension :

In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate
option to fill in each blank. The Sun is the star at the center of (1) Solar System. It is a nearly perfect ball

of hot plasma. The Sun has inspired us since ancient times. It's central to mythology and religion in (2)

around the world. It keeps our planet warm enough for living things to grow. It gives us light so we can see. It is by far the
most important (3) of energy for life on Earth. It is about a hundred times as wide (4) the Earth. If
there were no sun, many things wouldn’t occur like photosynthesis or the presence of oxygen, which would have caused
no existence of life.

Question 54 :
Select the most appropriate option to fill in blank number 3.

Difficulty : Moderate Average Time: 83 Seconds

Options :
1. control

2. gesture
3. source

4. symbol
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Solution :
The correct answer is source i.e. option 3.

¢ In the context of the passage, this word accurately conveys the idea that the Sun is the primary supplier and origin
of energy for life on Earth.
e The other options, "control,” "gesture,” and "symbol," do not fit the context and intended meaning.

Comprehension :

In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate
option to fill in each blank. The Sun is the star at the center of (1) Solar System. It is a nearly perfect ball

of hot plasma. The Sun has inspired us since ancient times. It's central to mythology and religion in (2)

around the world. It keeps our planet warm enough for living things to grow. It gives us light so we can see. It is by far the
most important (3) of energy for life on Earth. It is about a hundred times as wide (4) the Earth. If
there were no sun, many things wouldn’t occur like photosynthesis or the presence of oxygen, which would have caused
no existence of life.

Question 55 :
Select the most appropriate option to fill in blank number 4.

Difficulty : Moder ate Average Time: 84 Seconds

Options :
1. like

2. as
3. than
4. about
Solution :
The correct answer is as i.e. option 2.

e Using "than" in this context shows a comparison between the width of the Sun and the Earth, indicating that the Sun
is approximately a hundred times wider than the Earth.
e The other options do not correctly convey the comparison.
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Comprehension :

Read the following passage and answer the questions given after it. Notwithstanding logistical challenges posed by
COVID19 pandemic, India continues to expand its rice exports footprint in the African, Asian and European Union markets,
thus having the largest share in global rice trade. The robust global demand also helped India’s growth in rice exports. In
2020-21, India’s rice exports (Basmati and Non-Basmati) rose by a huge 87 per cent to 17.72 Million Tonne (MT) from
9.49 MT achieved in 2019-20. In terms of value realisation, India’s rice exports rose by 38 per cent to USD 8815 million
in 2020-21 from USD 6397 million reported in 2019-20. In terms of Rupees, India’s rice export grew by 44 per cent to Rs
65298 crore in 2020-21 from Rs 45379 crore in the previous year. In the first seven months of the current financial year
(2021-22), India’s rice exports rose by more than 33 per cent to 11.79 MT from 8.91 MT achieved during April-October,
2020-21. It is anticipated that India’s rice exports in 2021-22 would likely surpass the record feet of 17.72 MT achieved in
2020-21. In 2020-21, India shipped non-basmati rice to nine countries - Timor-Leste, Puerto Rico, Brazil, Papua New
Guinea, Zimbabwe, Burundi, Eswatini, Myanmar and Nicaragua, where exports were carried out for the first time or earlier
the shipment was smaller in volume. India’s Non-Basmati rice exports was valued at USD 4796 million (Rs 35448crore) in
2020- 21, with Basmati Rice exports a close second at USD 4018 million (Rs 29,849 crore). In terms of volume of Basmati
rice exports in 2020-21, top ten countries — Saudi Arabia, Iran, Iraq, Yemen, United Arab Emirates, United States of
America, Kuwait, United Kingdom, Qatar and Oman have a share of close to 80 per cent in total shipments of aromatic
long grained rice from India. Top ten countries — Nepal, Benin, Bangladesh, Senegal, Togo, Cote D Ivoire,

Guinea, Malaysia, Irag, United Arab Emirates — have a share of 57 per cent in India’s total exports of non-Basmati rice in
2020-21 in terms of volume.

Question 56 :
What is the estimate of rice export in the year 2021-227?

Difficulty : Moderate Average Time: 142 Seconds

Options :
1. It will remain the same as the 17.72 MT rice export achieved in 2020-21.

2. It may fall below the 17.72 MT rice export achieved in 2020-21.
3. It will exceed the 17.72 MT rice export achieved in 2020-21.
4. 1t will not pass beyond the 17.72 MT rice export achieved in 2020-21.
Solution :
The correct answer is It will exceed the 17.72 MT rice export achieved in 2020-21. i.e. option 3.

The passage mentions that in the first seven months of the current financial year (2021-22), India's rice exports had
already risen by more than 33 percent to 11.79 MT, and it is anticipated that India's rice exports in 2021-22 would likely
surpass the record of 17.72 MT achieved in 2020-21.

Comprehension :
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Read the following passage and answer the questions given after it. Notwithstanding logistical challenges posed by
COVID19 pandemic, India continues to expand its rice exports footprint in the African, Asian and European Union markets,
thus having the largest share in global rice trade. The robust global demand also helped India’s growth in rice exports. In
2020-21, India’s rice exports (Basmati and Non-Basmati) rose by a huge 87 per cent to 17.72 Million Tonne (MT) from
9.49 MT achieved in 2019-20. In terms of value realisation, India’s rice exports rose by 38 per cent to USD 8815 million

in 2020-21 from USD 6397 million reported in 2019-20. In terms of Rupees, India’s rice export grew by 44 per cent to Rs
65298 crore in 2020-21 from Rs 45379 crore in the previous year. In the first seven months of the current financial year
(2021-22), India’s rice exports rose by more than 33 per cent to 11.79 MT from 8.91 MT achieved during April-October,
2020-21. It is anticipated that India’s rice exports in 2021-22 would likely surpass the record feet of 17.72 MT achieved in
2020-21. In 2020-21, India shipped non-basmati rice to nine countries - Timor-Leste, Puerto Rico, Brazil, Papua New
Guinea, Zimbabwe, Burundi, Eswatini, Myanmar and Nicaragua, where exports were carried out for the first time or earlier
the shipment was smaller in volume. India’s Non-Basmati rice exports was valued at USD 4796 million (Rs 35448crore) in
2020- 21, with Basmati Rice exports a close second at USD 4018 million (Rs 29,849 crore). In terms of volume of Basmati
rice exports in 2020-21, top ten countries — Saudi Arabia, Iran, Iraq, Yemen, United Arab Emirates, United States of
America, Kuwait, United Kingdom, Qatar and Oman have a share of close to 80 per cent in total shipments of aromatic
long grained rice from India. Top ten countries — Nepal, Benin, Bangladesh, Senegal, Togo, Cote D Ivoire,

Guinea, Malaysia, Irag, United Arab Emirates — have a share of 57 per cent in India’s total exports of non-Basmati rice in
2020-21 in terms of volume.

Question 57 :
Which of the following questions cannot be answered on the basis of the above passage?

Difficulty : Moderate Average Time: 155 Seconds

Options :
1. How much Basmati rice was exported by India in 2020-217?

2. How much rice (Basmati and Non Basmati) was exported by India in 2020-217
3. Which top 10 countries buy Non -Basmati rice from India?
4. What was the value of Basmati rice export from India?
Solution :
The correct answer is How much Basmati rice was exported by India in 2020-217 i.e. option 1.

The question "How much Basmati rice was exported by India in 2020-21?" cannot be directly answered based on the
provided passage.

Comprehension :
Read the following passage and answer the questions given after it. Notwithstanding logistical challenges posed by
COVID19 pandemic, India continues to expand its rice exports footprint in the African, Asian and European Union markets,
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thus having the largest share in global rice trade. The robust global demand also helped India’s growth in rice exports. In
2020-21, India’s rice exports (Basmati and Non-Basmati) rose by a huge 87 per cent to 17.72 Million Tonne (MT) from
9.49 MT achieved in 2019-20. In terms of value realisation, India’s rice exports rose by 38 per cent to USD 8815 million
in 2020-21 from USD 6397 million reported in 2019-20. In terms of Rupees, India’s rice export grew by 44 per cent to Rs
65298 crore in 2020-21 from Rs 45379 crore in the previous year. In the first seven months of the current financial year
(2021-22), India’s rice exports rose by more than 33 per cent to 11.79 MT from 8.91 MT achieved during April-October,
2020-21. It is anticipated that India’s rice exports in 2021-22 would likely surpass the record feet of 17.72 MT achieved in
2020-21. In 2020-21, India shipped non-basmati rice to nine countries - Timor-Leste, Puerto Rico, Brazil, Papua New
Guinea, Zimbabwe, Burundi, Eswatini, Myanmar and Nicaragua, where exports were carried out for the first time or earlier
the shipment was smaller in volume. India’s Non-Basmati rice exports was valued at USD 4796 million (Rs 35448crore) in
2020- 21, with Basmati Rice exports a close second at USD 4018 million (Rs 29,849 crore). In terms of volume of Basmati
rice exports in 2020-21, top ten countries — Saudi Arabia, Iran, Iraq, Yemen, United Arab Emirates, United States of
America, Kuwait, United Kingdom, Qatar and Oman have a share of close to 80 per cent in total shipments of aromatic
long grained rice from India. Top ten countries — Nepal, Benin, Bangladesh, Senegal, Togo, Cote D Ivoire,

Guinea, Malaysia, Iraq, United Arab Emirates — have a share of 57 per cent in India’s total exports of non-Basmati rice in
2020-21 in terms of volume.

Question 58 :
Which of the following countries imported rice from India for the first time?

Difficulty : Moderate Average Time: 147 Seconds

Options :
1. Iraq

2. Bangladesh
3. Brazil

4. United Arab Emirates

Solution :
The correct answer is Brazil i.e. option 3.

It is mentioned in the passage that Brazil is one of the countries that imported rice from India for the first time.

Comprehension :

Read the following passage and answer the questions given after it. Notwithstanding logistical challenges posed by
COVID19 pandemic, India continues to expand its rice exports footprint in the African, Asian and European Union markets,
thus having the largest share in global rice trade. The robust global demand also helped India’s growth in rice exports. In
2020-21, India’s rice exports (Basmati and Non-Basmati) rose by a huge 87 per cent to 17.72 Million Tonne (MT) from
9.49 MT achieved in 2019-20. In terms of value realisation, India’s rice exports rose by 38 per cent to USD 8815 million

Page No: 40
Kd_Live


https://study.kdcampus.live/question-paper/ssc-cgl-tier-i-previous-year-question-paper-2023-10-27-morning-shift-41500
https://study.kdcampus.live/

Kd_Live

in 2020-21 from USD 6397 million reported in 2019-20. In terms of Rupees, India’s rice export grew by 44 per cent to Rs
65298 crore in 2020-21 from Rs 45379 crore in the previous year. In the first seven months of the current financial year
(2021-22), India’s rice exports rose by more than 33 per cent to 11.79 MT from 8.91 MT achieved during April-October,
2020-21. It is anticipated that India’s rice exports in 2021-22 would likely surpass the record feet of 17.72 MT achieved in
2020-21. In 2020-21, India shipped non-basmati rice to nine countries - Timor-Leste, Puerto Rico, Brazil, Papua New
Guinea, Zimbabwe, Burundi, Eswatini, Myanmar and Nicaragua, where exports were carried out for the first time or earlier
the shipment was smaller in volume. India’s Non-Basmati rice exports was valued at USD 4796 million (Rs 35448crore) in
2020- 21, with Basmati Rice exports a close second at USD 4018 million (Rs 29,849 crore). In terms of volume of Basmati
rice exports in 2020-21, top ten countries — Saudi Arabia, Iran, Iraq, Yemen, United Arab Emirates, United States of
America, Kuwait, United Kingdom, Qatar and Oman have a share of close to 80 per cent in total shipments of aromatic
long grained rice from India. Top ten countries — Nepal, Benin, Bangladesh, Senegal, Togo, Cote D Ivoire,

Guinea, Malaysia, Irag, United Arab Emirates — have a share of 57 per cent in India’s total exports of non-Basmati rice in
2020-21 in terms of volume.

Question 59 :
Which of the following countries imports Basmati rice from India?

Difficulty : Moderate Average Time: 134 Seconds

Options :
1. Malaysia

2. Nepal
3. Bangladesh

4. Kuwait

Solution :
The correct answer is Kuwait i.e. option 4.

It is mentioned in the passage that Kuwait is one of the countries that import Basmati Rice from India.

Comprehension :

Read the given passage and answer the questions that follow. As the Sun inches closer to its peak activity in its solar
cycle, an explosion has been picked up behind the north-eastern limb of the star in our solar system. Solar observatories
saw bits and pieces of the explosion, which remain obscured in view from Earth's orbit. The explosion was spotted on 31
July at around 2309 UT and Earth-orbiting satellites registered a long-lasting C9.3-class solar flare. "The intensity is
probably an underestimate because it was partially eclipsed by the edge of the sun. Nasa's Solar Dynamics

Observatory (SDO) saw hot debris flying away from the blast site," space weather, which tracks the solar activity,
reported. While the explosion was powerful, experts have predicted that Earth is not in the line of fire from the Sun.
Scientists are expected to get a view of the active region later this week as it comes to sight. Earth is not in the line of fire.
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The explosion is significant because it may herald an active region set to emerge over the sun's north-eastern limb later
this week. A new sunspot group could bring an end to weeks of relative quiet,” space weather said in its report.

Question 60 :
Select the most appropriate synonym of the given word from the passage. Partially

Difficulty : Moderate Average Time: 96 Seconds

Options :
1. Supportively

2. Partly
3. Frankly

4. Completely

Solution :
The correct answer is Partly i.e. option 2.

"Partially" means to a limited extent or in part.

"Partly" is a synonym that conveys the same meaning. It indicates that something is not entirely complete but has been
done to some extent.

Comprehension :

Read the given passage and answer the questions that follow. As the Sun inches closer to its peak activity in its solar
cycle, an explosion has been picked up behind the north-eastern limb of the star in our solar system. Solar observatories
saw bits and pieces of the explosion, which remain obscured in view from Earth's orbit. The explosion was spotted on 31
July at around 2309 UT and Earth-orbiting satellites registered a long-lasting C9.3-class solar flare. "The intensity is
probably an underestimate because it was partially eclipsed by the edge of the sun. Nasa's Solar Dynamics

Observatory (SDO) saw hot debris flying away from the blast site," space weather, which tracks the solar activity,
reported. While the explosion was powerful, experts have predicted that Earth is not in the line of fire from the Sun.
Scientists are expected to get a view of the active region later this week as it comes to sight. Earth is not in the line of fire.
The explosion is significant because it may herald an active region set to emerge over the sun's north-eastern limb later
this week. A new sunspot group could bring an end to weeks of relative quiet,” space weather said in its report.

Question 61 :
Select the most appropriate synonym of the given word from the passage. Debris

Difficulty : Moderate Average Time: 102 Seconds

Options :
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Detritus
2. Rays
3. Specks
4. Liquid

Solution :
The correct answer is Detritus i.e. option 1.

"Debris" refers to scattered pieces of waste or remains of something broken or destroyed.
"Detritus" is a synonym that means the same thing. It's a term used to describe discarded material.

Comprehension :

Read the given passage and answer the questions that follow. As the Sun inches closer to its peak activity in its solar
cycle, an explosion has been picked up behind the north-eastern limb of the star in our solar system. Solar observatories
saw bits and pieces of the explosion, which remain obscured in view from Earth's orbit. The explosion was spotted on 31
July at around 2309 UT and Earth-orbiting satellites registered a long-lasting C9.3-class solar flare. "The intensity is
probably an underestimate because it was partially eclipsed by the edge of the sun. Nasa's Solar Dynamics

Observatory (SDO) saw hot debris flying away from the blast site," space weather, which tracks the solar activity,
reported. While the explosion was powerful, experts have predicted that Earth is not in the line of fire from the Sun.
Scientists are expected to get a view of the active region later this week as it comes to sight. Earth is not in the line of fire.
The explosion is significant because it may herald an active region set to emerge over the sun's north-eastern limb later
this week. A new sunspot group could bring an end to weeks of relative quiet,” space weather said in its report.

Question 62 :
Select the most appropriate synonym of the given word from the passage. Spotted

Difficulty : Moderate Average Time: 102 Seconds

Options :
1. Witnessed

2. Speckled
3. Splotchy
4. Placed

Solution :
The correct answer is Witnessed i.e. option 1.
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"Witnessed" means that you observed or saw something and that you were present when it happened.
"Spotted” means to see or notice something. It can refer to observing something.

Comprehension :

Read the given passage and answer the questions that follow. As the Sun inches closer to its peak activity in its solar
cycle, an explosion has been picked up behind the north-eastern limb of the star in our solar system. Solar observatories
saw bits and pieces of the explosion, which remain obscured in view from Earth's orbit. The explosion was spotted on 31
July at around 2309 UT and Earth-orbiting satellites registered a long-lasting C9.3-class solar flare. "The intensity is
probably an underestimate because it was partially eclipsed by the edge of the sun. Nasa's Solar Dynamics

Observatory (SDO) saw hot debris flying away from the blast site," space weather, which tracks the solar activity,
reported. While the explosion was powerful, experts have predicted that Earth is not in the line of fire from the Sun.
Scientists are expected to get a view of the active region later this week as it comes to sight. Earth is not in the line of fire.
The explosion is significant because it may herald an active region set to emerge over the sun's north-eastern limb later
this week. A new sunspot group could bring an end to weeks of relative quiet,” space weather said in its report.

Question 63 :
Select the most appropriate synonym of the given word from the passage. Peak

Difficulty : Moderate Average Time: 101 Seconds

Options :
1. Glance

2. Point
3. Bottom

4. Zenith

Solution :
The correct answer is Zenith i.e. option 4.

A "peak” refers to the highest point or summit of something, and "zenith" is a synonym for the highest point of success or
achievement.

Comprehension :

Read the following passage and answer the questions given after it. Tens of thousands of people who lost their homes in a
catastrophic earthquake huddled around campfires in the bitter cold and clamoured for food and water on Thursday, three
days after the temblor hit Turkey and Syria and killed more than 19,300 on Monday, 6th February, 2023. Emergency
crews used pick axes, shovels and jackhammers to dig through twisted metal and concrete - and occasionally still pulled
out survivors. In the Turkish city of Antakya, dozens scrambled for aid in front of a truck distributing children's coats and
other supplies. Many of those who lost their homes found shelter in tents, stadiums and other temporary accommodation,
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but others slept outdoors. In Antakya, over 100 bodies were awaiting identification in a makeshift morgue outside a
hospital. Authorities called off search-and-rescue operations in the cities of Kilis and Sanliurfa, where destruction was not
as severe as in other impacted regions. The U.N. is authorised to deliver aid through only one border crossing, and road
damage has prevented that thus far. U.N. Officials pleaded for humanitarian concerns to take precedence over wartime
politics. The scale of loss and suffering remained massive. Turkish authorities said on Thursday that the death toll had
risen to more than 16,100 in the country, with more than 64,000 injured. In Syria, which includes government-held and
rebel-held areas, more than 3,100 have been reported dead and more than 5,000 injured. Rescue teams urged quiet in
the hope of hearing stifled pleas for help, and the Syrian paramedic group known as the White Helmets noted that every
second could mean saving a life. But more and more often, the teams pulled out dead bodies. It was not clear how many
people were still unaccounted for in both countries. Turkey's disaster-management agency said more than 110,000
rescue personnel were now taking part in the effort and more than 5,500 vehicles, including tractors, cranes, bulldozers
and excavators had been shipped. The Foreign Ministry said 95 countries have offered help. More than half of that
number have sent a total of nearly 6,500 rescuers. Another 2,400 more are still expected to arrive. International aid for
Syria was far more sparse. Efforts there have been hampered by the civil war and the isolation of the rebel-held region
along the border that is surrounded by Russia-backed government forces.

Question 64 :
How many foreign rescue workers are engaged in the rescue work?

Difficulty : Moder ate Average Time: 149 Seconds

Options :
1. 2400 rescue workers

2. 110,000 rescue workers
3. 5000 rescue workers

4. 6500 rescue workers

Solution :
The correct answer is 6500 rescue workers i.e. option 4.

It is mentioned in the passage that there were nearly 6500 rescuers.

Comprehension :

Read the following passage and answer the questions given after it. Tens of thousands of people who lost their homes in a
catastrophic earthquake huddled around campfires in the bitter cold and clamoured for food and water on Thursday, three
days after the temblor hit Turkey and Syria and killed more than 19,300 on Monday, 6th February, 2023. Emergency
crews used pick axes, shovels and jackhammers to dig through twisted metal and concrete - and occasionally still pulled
out survivors. In the Turkish city of Antakya, dozens scrambled for aid in front of a truck distributing children's coats and
other supplies. Many of those who lost their homes found shelter in tents, stadiums and other temporary accommodation,
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but others slept outdoors. In Antakya, over 100 bodies were awaiting identification in a makeshift morgue outside a
hospital. Authorities called off search-and-rescue operations in the cities of Kilis and Sanliurfa, where destruction was not
as severe as in other impacted regions. The U.N. is authorised to deliver aid through only one border crossing, and road
damage has prevented that thus far. U.N. Officials pleaded for humanitarian concerns to take precedence over wartime
politics. The scale of loss and suffering remained massive. Turkish authorities said on Thursday that the death toll had
risen to more than 16,100 in the country, with more than 64,000 injured. In Syria, which includes government-held and
rebel-held areas, more than 3,100 have been reported dead and more than 5,000 injured. Rescue teams urged quiet in
the hope of hearing stifled pleas for help, and the Syrian paramedic group known as the White Helmets noted that every
second could mean saving a life. But more and more often, the teams pulled out dead bodies. It was not clear how many
people were still unaccounted for in both countries. Turkey's disaster-management agency said more than 110,000
rescue personnel were now taking part in the effort and more than 5,500 vehicles, including tractors, cranes, bulldozers
and excavators had been shipped. The Foreign Ministry said 95 countries have offered help. More than half of that
number have sent a total of nearly 6,500 rescuers. Another 2,400 more are still expected to arrive. International aid for
Syria was far more sparse. Efforts there have been hampered by the civil war and the isolation of the rebel-held region
along the border that is surrounded by Russia-backed government forces.

Question 65 :
Match the words with their meaning. Words - meanings a. clamoured 1. checked b. scrambled 2. screamed c.
hampered 3. jostled

Difficulty : Moderate Average Time: 149 Seconds

Options :
1. a-2,b-3,c-1

2. a-2,b-1,c-3
3.a-3,b-1,c-2
4. a-1, b-3,c-2
Solution :
The correct answer is a-2, b-3, c-1 i.e. option 1.
"Clamoured" means to make a loud and noisy demand or protest.

"Scrambled" can have multiple meanings, but in the context provided, it means to move quickly and with difficulty, in a
disordered or chaotic manner.

"Hampered" means to hinde or restrict the progress and movement of something.

Comprehension :
Read the following passage and answer the questions given after it. Tens of thousands of people who lost their homes in a
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catastrophic earthquake huddled around campfires in the bitter cold and clamoured for food and water on Thursday, three
days after the temblor hit Turkey and Syria and killed more than 19,300 on Monday, 6th February, 2023. Emergency
crews used pick axes, shovels and jackhammers to dig through twisted metal and concrete - and occasionally still pulled
out survivors. In the Turkish city of Antakya, dozens scrambled for aid in front of a truck distributing children's coats and
other supplies. Many of those who lost their homes found shelter in tents, stadiums and other temporary accommodation,
but others slept outdoors. In Antakya, over 100 bodies were awaiting identification in a makeshift morgue outside a
hospital. Authorities called off search-and-rescue operations in the cities of Kilis and Sanliurfa, where destruction was not
as severe as in other impacted regions. The U.N. is authorised to deliver aid through only one border crossing, and road
damage has prevented that thus far. U.N. Officials pleaded for humanitarian concerns to take precedence over wartime
politics. The scale of loss and suffering remained massive. Turkish authorities said on Thursday that the death toll had
risen to more than 16,100 in the country, with more than 64,000 injured. In Syria, which includes government-held and
rebel-held areas, more than 3,100 have been reported dead and more than 5,000 injured. Rescue teams urged quiet in
the hope of hearing stifled pleas for help, and the Syrian paramedic group known as the White Helmets noted that every
second could mean saving a life. But more and more often, the teams pulled out dead bodies. It was not clear how many
people were still unaccounted for in both countries. Turkey's disaster-management agency said more than 110,000
rescue personnel were now taking part in the effort and more than 5,500 vehicles, including tractors, cranes, bulldozers
and excavators had been shipped. The Foreign Ministry said 95 countries have offered help. More than half of that
number have sent a total of nearly 6,500 rescuers. Another 2,400 more are still expected to arrive. International aid for
Syria was far more sparse. Efforts there have been hampered by the civil war and the isolation of the rebel-held region
along the border that is surrounded by Russia-backed government forces.

Question 66 :
The passage highlights all the following except

Difficulty : Difficult Average Time: 159 Seconds

Options :
1. Syria’s rebel-held areas and the Civil war going on there

2. the foreign aid being offered to Turkey and Syria
3. the suffering of people in the earthquake hit areas of Turkey and Syria
4. the rescue work being carried out in Turkey and Syria
Solution :
The correct answer is Syria’s rebel-held areas and the Civil war going on there i.e. option 1.

The passage talks about people suffering in places hit by earthquakes, the rescue efforts in Turkey and Syria, and the
problems in areas controlled by rebels in Syria because of the ongoing war.

It mentions about the foreign aid being given.
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However, it doesn't go into detail about Syria’s rebel-held areas and the Civil war going on there.

Comprehension :

Read the following passage and answer the questions given after it. Tens of thousands of people who lost their homes in a
catastrophic earthquake huddled around campfires in the bitter cold and clamoured for food and water on Thursday, three
days after the temblor hit Turkey and Syria and killed more than 19,300 on Monday, 6th February, 2023. Emergency
crews used pick axes, shovels and jackhammers to dig through twisted metal and concrete - and occasionally still pulled
out survivors. In the Turkish city of Antakya, dozens scrambled for aid in front of a truck distributing children's coats and
other supplies. Many of those who lost their homes found shelter in tents, stadiums and other temporary accommaodation,
but others slept outdoors. In Antakya, over 100 bodies were awaiting identification in a makeshift morgue outside a
hospital. Authorities called off search-and-rescue operations in the cities of Kilis and Sanliurfa, where destruction was not
as severe as in other impacted regions. The U.N. is authorised to deliver aid through only one border crossing, and road
damage has prevented that thus far. U.N. Officials pleaded for humanitarian concerns to take precedence over wartime
politics. The scale of loss and suffering remained massive. Turkish authorities said on Thursday that the death toll had
risen to more than 16,100 in the country, with more than 64,000 injured. In Syria, which includes government-held and
rebel-held areas, more than 3,100 have been reported dead and more than 5,000 injured. Rescue teams urged quiet in
the hope of hearing stifled pleas for help, and the Syrian paramedic group known as the White Helmets noted that every
second could mean saving a life. But more and more often, the teams pulled out dead bodies. It was not clear how many
people were still unaccounted for in both countries. Turkey's disaster-management agency said more than 110,000
rescue personnel were now taking part in the effort and more than 5,500 vehicles, including tractors, cranes, bulldozers
and excavators had been shipped. The Foreign Ministry said 95 countries have offered help. More than half of that
number have sent a total of nearly 6,500 rescuers. Another 2,400 more are still expected to arrive. International aid for
Syria was far more sparse. Efforts there have been hampered by the civil war and the isolation of the rebel-held region
along the border that is surrounded by Russia-backed government forces.

Question 67 :
Why is the International aid much lesser in Syria than in Turkey?

Difficulty : Moder ate Average Time: 172 Seconds

Options :
1. Because Syria is a war —torn country and there are areas under rebels.

2. Because the destruction was not as severe in Syria as in Turkey.
3. Because the UN is allowed only one border crossing and Syria is not allowing that.
4. Because the roads have been damaged there

Solution :
The correct answer is Because Syria is a war —torn country and there are areas under rebels. i.e. option 1.
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The passage says that in Syria, there's a war going on, and some areas are controlled by rebel groups. This makes it
harder for outside help to get to and work in Syria.

In contrast, Turkey faces different problems after the earthquake, but it's easier to get aid there.

Question 68 :
Out of the following five figures, four are alike in some manner and one differs from these in that manner. Select the odd
figure.

Difficulty : Moderate Average Time: 63 Seconds

Options :
1. M%Z@Wor type unknown

2. bay-4@ 2BTT or type unknown
3. Cmep-4G287T or type unknown

4. WiMa-A6 XBTF or type unknown

Solution :
The correct answer is chrq-462577 ie.

Question 69 :
Figure A is related to B following a certain pattern. Following the same pattern, figure C is related to D. Study the pattern
and select the figure which should be placed in place of D.

Difficulty : Moderate Average Time: 58 Seconds

Options :
1. Bma-48288@or type unknown

2 Ioinap-462B82or type unknown
3. Cmep-482882 or type unknown

4. Oma-46RB82or type unknown

Solution :
The correct answer is bhrg-462582 ie.

arshre:482882type unknown

Question 70 :
Out of the following five figures, four are alike in some manner and one differs from these in that manner. Select the odd
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figure.

Difficulty : Moderate Average Time: 60 Seconds

Options :
1. Bmgp-48 2586 or type unknown

2 Ioinap-46 2586 0r type unknown
3. Cmep-482886 or type unknown
4. Omap-4828860r type unknown

Solution :
The correct answer is Option 3 i.e.chrq-462586

In the given five figures, all the glasses are of different patterns, but the third and first glasses are of the same pattern.
Hence, the third glass is the odd one out.

Hence, the correct answer is Option 3.

Question 71 :
Select the figure from the options that can replace the question mark (?) and complete the given pattern.

Difficulty : Moderate Average Time: 66 Seconds

Options :
1. Bmgp-462590@or type unknown

2 binap-48250@or type unknown
3. bimep-462890 or type unknown

4. Omap-48289@or type unknown

Solution :
The correct answer is option 2 i.e. bhrg-462590

The figure that will complete the pattern:
arshre:482890ype unknown

Question 72 :
Select the option in which the following figure is embedded. (Rotation is NOT allowed)
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Difficulty : Moderate
Average Time: 61 Seconds

Options :
1. Bmgp-468259@or type unknown

2 binap-48250@or type unknown
3. hagp-462808 or type unknown

4. Omap-46 2893 or type unknown

Solution :
The correct answer is option 4 i.e. dhrg-462593

The given figure is embedded in option 4, as shown below:
arshre:482893ype unknown

Question 73 :

Direction: One statement followed by two inferences | and Il are given. Assuming that the given statement is true even if it
appears to be at variance from commonly known facts, decide which of the given inferences logically follows from the
statement. Statement: In a football match between team X and team Y, number of goals by team Y was 5, of which 3
goals were scored by left footed players. Estimate: I. Left footed player was adept at scoring goals. 1. 60% of the players
of team Y are left footed.

Difficulty : Moderate Average Time: 82 Seconds

Options :
1. Both I and Il follow.

2. Only Il follows

3. Neither | nor Il follows.

4. Only | follows.
Solution :
The correct answer is Option 3 i.e. Neither | nor Il follows.
Statement:

In a football match between team X and team Y, number of goals by team Y was 5, of which 3 goals were scored by left
footed players.

Estimate:
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I. Left footed player was adept at scoring goals.

1. 60% of the players of team Y are left footed.

Neither | nor Il follows because both estimation are not derived from the given statement.
Hence, the correct answer is Neither | nor Il is follows.

Question 74 :
Select the figure from among the given options that can replace the question mark (?) in the following series.

Difficulty : Moderate Average Time: 61 Seconds

Options :
1. Bmep-4@3RMHE or type unknown

2 agp-A483RME or type unknown
3. Cmep-4632M02 or type unknown

4. Umap-46320@or type unknown

Solution :
The correct answer is Option 1 i.e.ahrg-463212

Every element shifts 1 place in a clockwise direction until the last element does not come. The last element '+' disappeared
and a new element A appeared.

Every element shifts 2 places clockwise direction until the 2nd last element does not come.
The 2nd last element + disappeared and new element B appeared at the last.
As A is placed after the eliminated element, A shifts three places in the clockwise direction and so on.

Hence, the correct answer is Option 1.

amshrqt4832 12 type unknown

Question 75 :
Select the correct mirror image of the given combination when the mirror is held on the right side of the image.

Difficulty : Moderate Average Time: 85 Seconds

Options :
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M%W@Or type unknown
2. wepd63640d or type unknown
3. imep- 463840 or type unknown

4. Wima-4636400r type unknown

Solution :
The correct answer is option 1 i.e. ahrg-463640

The mirror image of the question figure is shown below:
arshre488640ype unknown

Since the mirror is placed right to the question figure, the right-hand side of the original image will now be the left-hand
side of the mirror image.

Hence, option 1 is the correct answer.

Ssc Cgl Tier | Previous Year Question Paper
Analysis

The analysis of Ssc Cgl Tier | Previous Year Question Paper held on 2023-10-27 in the Morning Shift exam is as follows:
67 questions were moderate and 8 questions were hard.

The safe score is 140 marks.

, 30 questions were asked from Logical Reasoning and 45 questions were asked from English Language

13 questions should have been skipped if you were short of time.

AN PR

Ssc Cqgl Tier | Previous Year Question Paper Topic
Wise Weightage

Logical Reasoning

Coding Decoding - 2
Analogy - 4
Classification - 3
Seating Arrangement - 1
Blood Relation - 2

Order And Ranking - 1
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Syllogism - 1
8. Analytical Reasoning - 3
9. Figure Based - 4
10. Mathematical Inequality - 1
11. Series -3
12. Mathematical Reasoning - 3
13. Data Sufficiency - 2

English Language

Reading Comprehension - 12
Cloze Test - 4

Error Spotting - 2

Sentence & Para Jumbles - 6
Idioms - 2

One Word Substitution - 2
Filler (Misc) - 2

Narration - 3

Voice - 3

Sentence Improvement - 1

. Synonym - 1

. Antonym - 2

. Filler (Vocab) - 2

. Filler (Grammar) - 1

. Incorrectly Spelt - 2

. Incorrectly Spelt - 2
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Ssc Cqgl Tier | Previous Year Question Paper Tips
and Tricks

Beolgl Tier bRreviokusWNear Question Paper Tips and Tricks
1. Try to solve Ssc Cgl Tier | Previous Year Question Paper without taking any help from the solutions.

2. Ssc Cgl Tier | Previous Year Question Paper require proper usage of concept so firstly read the question thoroughly
and then use the right concept.

3. In case you're not able to solve the question in less than 30 seconds in the exam then you should skip the question
and move to the next question.

Daily Current Affairs
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Daily CUrrertAffargknown
KD Live is providing Current Affairs on a daily basis for SSC and a Current Affairs Quiz too for the practice.

KD Live Free Offerings

KBk ive fFreecOfferingswn
KD Live is Offering Every Information and Study Material required for the self study. Please click on the following links for
accessing those.

Study Plan

General Science
General Awareness
General Knowledge
Quantitative Aptitude
Logical Reasoning
English Language
Today In History
Syllabus

Know Your State
Know Your Country
Know Your City
Know Your Leader
Books And Authors
Daily Vocabulary
Daily Editorial
Latest Notifications
Exam Dates

Admit Card

Exam Results
Exam Cutoff

Exam Eligibility
Exam Pattern
Answer Key
Important Days

Full Form
Government Schemes
Previous Year PDF
Quiz

Courses
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Further Guidance on Ssc Cgl Tier | Previous Year Question Paper

For Asking any query on Ssc Cgl Tier | Previous Year Question Paper please mail Send Email or you can fill the form at
KD Live.

About KD Live

KD live has an expertise in providing apt explanations for the Ssc Cgl Tier | Previous Year Question Paper since 2008.
More than 10 lakh aspirants have cleared competitive exams under the guidance of Neetu Mam. Study.kdcampus.live is
providing free information on various topics and for the Ssc Cgl Exam you can refer the following link Click Here however if
you want to practice more questions then please refer the following link Click Here.

About Neetu Mam

Neetu Mam is primarily passionate for the English language and teaching from the last 20 years however for the Ssc Cgl
Tier | Previous Year Question Paper. She has guided her team to provide the best explanation for the question.
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